S

)

O 2

S

®)

= 1.8

S

E 16

n_+

o

©

%1.4

Z 1.2

)

|
0.8
0.6
0.4
0.2
2

Ratio to CDF
[N

0.5

1960 GeV ppbar
L L B B I

J

nderlying Event

_ L B I B L B [ LI
~ Average Z(p ) vs p':ad (p, > 0.5 GeV, h < 0.8) i
L m CDF _
[ ¢ Sherpa 2.2.9 default ]
- = .
B g u " u 4 _
— u : _
— L : _
— - - e A ¥ R S _
- “ |
- R n
I _
— ¥ _
— 9 -

— 1 — 1 | — 1 | — |
: IIIIIIII | T T T T | T T T T |:
[ ¢ P ¢ _
— ’ _____ ’ ______ ’ L .- : . —]
— 6..,.,-" —

.................. I R S
0 10 15 20

(P [GeV]}

Rivet 3.1.10, 2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


